
 
 
 

                PARACHUTE RELEASE CABLE KIT 
                                  PART # C3452        
 

                                             PARTS LIST 
(1) Parachute Release Cable                                   (2) 10-24 Locknut 
(2) 10-24 Cap Screw                                                (1) Cable Clip W/Bracket 
(1) 1/4 Rod End                                                        (2) 1/4” Loc Nut 
(1) Bushing                                                               (3) 5/8” Washer 
(1) Universal Bracket Vertical                                   (1) Parachute Handle 
(1) 1/4” X 1.5” Bolt                                                    (1) 1/4” X 3/4” Cap Screw        
(1) Cable Clip Bracket Horizontal                             (2) Rubber Grommet                                          
(1) Universal Bracket Horizontal                               (1) Cable Clip Bracket Vertical 

              (1) Dust Boot  
This kit is designed to work on several styles of race cars from dragsters to door cars. 
Your specific installation may vary from the generalized instructions given here. 
Make adjustments where necessary. 
 
INSTALLATION INSTRUCTIONS: 
 

1.  Find a location to mount the handle. 
     Note: The handle must be easily reached when driver is completely strapped into the  
               seat. 
     The handle can be mounted so that it can be pulled or pushed to operate the Parachute   
     Release Cable and can be mounted both horizontally and vertically. 
2.  Loosely assemble the kit and determine how you want to install it in your car. 

I.E. location, what brackets are necessary etc. Mark bracket locations on the roll bar or 
frame etc. 
Note: The holes in the Cable Clip Brackets are spaced differently. One Bracket allows 
the Cable Clip to be mounted in line with the Cable Clip Bracket, the other allows you to 
mount the Cable Clip on a 90Deg. angle to the Cable Clip Bracket. 

3.  Attach the handle to the Mounting Bracket by first drilling a 1/4” hole in the Bracket. 
     Note there are (2) Universal Brackets one is intended to be used when mounting the handle  
     horizontally and the other is used when mounting the handle vertically. 
     Note: A SHORTER HANDLE MAY BE DESIRED. If so, the bottom end of the handle 
               can be trimmed and  a new hole drilled for your application. 
4.  Loosely bolt the handle to the bracket using the 3/4 cap screw and mark a mounting point 
     on the roll bar or frame. 
5.  Tack weld the mounting bracket to the cage/frame tube. 
     Note: The Cable Clip Brackets can be welded to your roll cage 

                  1.  At 90 deg. to the tubing 
                  2.  Parallel to the tubing  

 3.  With the bottom of the bracket Trimmed on an angle of your choosing  
                       and then welded to the cage, depending on your application. 

6.  Ensure the Parachute Release Cable is long enough to reach the parachute when attached 
 to the handle and that there are no sharp bends that will cause the cable to bind. 



Installation Instructions C3452 (cont’d.)                                                          Page 2 of 2 
 
 
 

7.  Adjust the cable clip until the cable will reach the handle when mounted in the desired 
    position. Using the supplied 10-24 screws and locknuts screw the Cable Clip to the Cable  
    Clip Bracket. 
8. Tack Weld the Cable Clip Bracket in place. 
9. Run the cable to the back of the car, avoiding kinks or binding. 

10. After you are satisfied with your installation of the cable, use zip ties (not included) or similar 
item to secure the cable to the roll cage.      

11. Where the cable must pass through a body panel, drill a 1/2” hole and use a rubber 
grommet in each. Push the cable through the grommet. 

12. The cable should make a slow curve when it reaches the parachute. No sharp angles which   
    would cause the cable to pop out of the chute pack. (Causing the chute to open) 

13. Cut the Parachute Release Cable one inch longer than you need it to be. 
14. Trim the outer cover, of the Parachute Release Cable, back 1” to 1-1/4”. Cut or punch a 

small hole in the end of the dust boot. Slide the dust boot over the end of the cable. 
15. Per sanction body rules “The Parachute Release Cable, if over 12” long must be firmly 

attached (insure that the inner cable will operate properly).” 
   

Cable Clip Bracket 
(1) of two included 
NOTE Trim off any 
excess bracket and 
grind corners smooth 

p

Finally, check the operation and position
happy with the location and function, fini
all the mounting hardware. 

 

For Technical Assistance, call C

(203) 458-0542, 8:3

 
 

 
 

                                  COMPETITI
                                         80 Carter Driv
            Phone: (203) 453-5

 

REV. C 
082514 
Cable Cli
 

Universal Bracket 
(1) of two included 

ing of the Parachute Release Cable, if you are 
sh weld the two mounting brackets and tighten 

ompetition Engineering's Tech Line at 

0am-5:00pm Eastern Time 

ON ENGINEERING 
e Guilford, CT 06437    

200 • Fax: (203) 453-6906 
C3452INST

 
Visit Us At www.competitionengineering.com


	COMPETITION ENGINEERING
	80 Carter Drive Guilford, CT 06437                Phone: (20


